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Ï×I	�ÑJóÝt·5�Þ 12 5�WËÍÑJóÝ¶�b
1 × 12, 2 × 6, 3 × 4ëË�ê9ëË5��ËóÝ-5½


12 − 1 = 11, 6 − 2 = 4, 4 − 3 = 1.�Q 3× 4Î9ëË5���¯ËóÝ-t�Ý×à�&ÆÌ 3× 4
 12 Ýt·5��¬!�5ó F12 = 3

4
�!§�24 b

1 × 24, 2 × 12, 3 × 8, 4 × 6°Ë5�℄P�� 4× 6 ÎËó-t�Ý×à�X| 4× 6 Î 24Ýt·5��v F24 = 4

6
= 2

3
�bÝî�Ü»�¡�©�0ÕÑJó nÝt·5� p×q(p ≤ q)�µ�|®ß×Í5óÝó� 〈Fn〉�Í��L Fn = p

q
�

1-1. O 18 Ýt·5�C5ó F18�
1-2. O 48 Ýt·5�C5ó F48�
1-3. O5ó F221�
1-4. O5ó F299�
1-5. ø°ÑJó n º¸ÿ Fn = 1�
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ÏÞI	�üùÝ5v��üùÝM�5
»jýãàǑM�õ&»YàM�ËË��»/;àM�x�b5ÄÌü6�5°0Ìü6Ë�v�uµ«�¼1�Jt�ÝüùÌ
���Ígb 2 ��3 ��4 ����128 ��ÝETüù�ÄÌüÝ��Î 25 × 35�|z%
�����Ýüù�� 2 ��b`ÌE���3 ��4 ��8 ��12 ��
16�� 20�Ý����A�%Xî��℄�üù´�\t|y\X®ßÝfÂÌ
9üùÝEÚÆ£F���|îÎbnüùM�Ý!}��yàüÝ�ÕÎ|E�F
���×�ü�� 500 ù��üùÝó��.
×ù��ü�|5vWËù 2 �ü�X|×�ü�8	y 1000 ù 2 �üÝó��
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× 171
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111

2
× 83
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81

3
× 83

4

61

4
× 83

4

61

4
× 7

2-1. a) 64 �ÄÌüM�
¢�32 �ÄÌüM�
¢�
b) 25 �ÄÌüM�
¢�18 �ÄÌüM�
¢�
c) ¿àÑJó.ó5�ÝáI�E&ËÄÌüÝM��Íó.2P�
d) Øß��(n�B�Õÿá(nÝ«�Î 12.5¿℄z%�u�(nÎ2ÄÌü%®�JhßÝ(nÎ¿�ÄÌü�
e) Y d)��(nÝ�´Î9K�
f) �® 25 �ÄÌüÎÍ�|Æ��\�\¿�Ý«Æ�JÍ 32 �ÄÌü�
g) ØÄÌüÝÚÆ£
 1.2�OÍ�ó�

2-2. °0ÌüÝ��Î 31 × 43�|z%
�����Ýüù��
2 ��3��4 ����128��ÝETüùÝ5v℄P��ûÄÌüÝ5v℄°�
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a) 64 �°0ÌüM�
¢�24 �°0ÌüM�
¢�
b) 7 �°0ÌüM�
¢�90 �°0ÌüM�
¢�
c) 96 �°0ÌüM�
¢�ÏëI	�§ǑÝüù��A�¯ÞG×;�Ýüù�Ë\\��J¼t×ì�¯ºs¨¸ÆÝfÂº¿{Î×Íðó�p¼#�9ÍðóÝüù�º¯ßªTEêT¸à℄-[�
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